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QUESTION 1

The application will be handling a large volume of input data that will need to be added to or update 4 different tables.
On average, there will be 50 million input records daily. To ensure that the application process to SQL INSERT and SQL
UPDATE(or SQL MERGE) delivers a high level of availability to the tables involved in this application process, what is a
key component of the application coding? 

A. Issue a LOCK TABLE for all 4 tables. 

B. Execute the SQL INSERT before the SQL UPDATE. 

C. Provide an effective commit / restart process. 

D. Run a QUIESCE utility before the process starts. 

Correct Answer: C 

 

 

QUESTION 2

A table space is in AREO*. What does this status mean? 

A. A full image copy of the table space must be taken. 

B. The table space should be reorganized for optimal performance. 

C. A START command must be issued to remove it from the pending status. 

D. The table space must be reorganized to materialize all pending changes. 

Correct Answer: B 

 

QUESTION 3

In which situation does adding a referential constraint place a table space containing data into check-pending status? 

A. When a primary key is defined on a table with no unique index. 

B. When a foreign key is defined on a table with the ENFORCED option. 

C. When a foreign key is defined on a table and a corresponding primary key has not been defined. 

D. When a foreign key is defined on a table with NOT ENFORCED option and a unique index has not been defined. 

Correct Answer: B 

 

QUESTION 4
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Unnecessary REORGs of indexes may be avoided by which of the following? 

A. Use the SYSIBM.SYSINDEXSPACESTATS table. 

B. Use the REPORT utility to determine the degree of organization. 

C. Use the CHANGELIMIT keyword when creating an image copy of the index. 

D. Use the CHECK INDEX utility to find out if the index needs to be reorganized. 

Correct Answer: A 

 

QUESTION 5

If a single row of the PLAN_TABLE has a \\'Y\\' value in more than one of the sort composite columns, what is
indicated? 

A. The next sort step will perform two sorts. 

B. There are multiple sorts in the plan step. 

C. One sort in the plan step will accomplish two tasks. 

D. Two sorts are performed on the new table of a star join. 

Correct Answer: C 
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